REAL EXAM QUESTIONS

Multiple Choice
1) Which two numbers should replace the

guestion mark?

A. A O~ 1431

O A @ 1156
EOA®-

A) 3114
C) 1115

B) 4111
D) 4115

2) Change 07 to letters.

70 )
50
09 ;
30
07

-

A) FA
C) MA

B) AF
D) SA

3) How many small cubes are there?
JusslP o=
iy

A) 33
C) 35

IQ QUESTIONS

GRADE 3 -4 ( CATEGORY 2)

4) Find next one

A B C A D C
—_ — —_ ?
C D D B B A
c |8 Al cC
D A D B
A) B)
B C B D
A D A C
C) D)

5) What number should replace the
guestion mark?

21, 42, 43, 86, ?, 174

A) 87
C) 90

B) 88
D) 92

6) What number should replace the
guestion mark?

3 6 15 45
5 10 27 81
4 8 21 63
6 12 ? 99

A) 9 B) 22
C) 11 D) 33

7) What number should replace the
question mark?

12 3 5 8 13 ?

A) 33
C) 22

B) 21
D) 18
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8) According to this formula, solve 11) Find the next number.
problem II1. 8 24 0 56

I. axb=a+4-b+1 2 4 6 7 ?

II. a@b=3-a-b+4 : :

A) 12 B) 8
=7

L. (6@12) + (9% 3)="? o) 14 D)3
A) 28 B) 36
C) 30 D) 32 12) What is the value of x +y =?

9) Which of the following completes the

? = ~ 5
above shape? —1.%2. 2
2 »( ¢

\
.

\+4
. N N\,

4 (3 )

” _\.\ \- _/I
O, \

|
Y] |f'."-,'-~~'.
T

A) 25
C) 24

13) What number should replace the
guestion mark?

10) According to this formula, solve

problem II11.
0,1, 2, 4,6,9, 12, 16, ?
. xAy=x"y-1 A) 19 B) 20
II. xJy=xty+1 C)21 D) 22
L. A 3)4 =2
A) 10 B) 11
C) 12 D) 13
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14) Which is the missing tile?
® o o ©
® O O
< @ —> A) B)
o O O
o
o
<= o ©
@@ <: C) D)

16) What comes next?

=
El T o

A) B) ‘
<: D U U A) B) [:::::]
C) i D) C) D) 200
15) Which is the missing tile? 17)
® O o | ©® O If OxO =A
O e|O o A-O0=0+0+0
5 S O then A =7?
® ® o
®
o - © A) 4 B) 28
C) 16 D) 30
o O @
®O
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18) With the given rule find x + z -y =?

A|l3|7]09
5 X
8 |11 | z
141 Y
A) 7 B) 10
C)8 D) 12

19) What is the area of shaded region in

a*?
4a 4a
4a 2a
2a 2a
A) 58 B) 60
C) 62 D) 64
20) Findy —x =?

3 X

A) 120
C) 125
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21) According to this formula, solve
problem IV.

I. aBb=a+2b-2
II. aAb=3a+b+4
III. a®@b=2a+3b

IV. GH2) @4 A3) =2

Answer:

22) Find missing number.

//ﬁ
()
NG

( 12 e ?
7 4
/ 7 1 >
\ o .
8 5
/
( 5 14
N

23) According to this formula, solve
problem II.

I A = (3+3+3)+(4+4+4)+(2+1+1)=25

Answer:

ANnswer:
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24) Find the value of:

(add L) + (bEIM) — (KEIC) = ?

M |41(12 |5

Answer:

25)

If

4 +4=20
5+ 5=30
6 + 6=42
7+ 7=56

Then9 +9 =177

Answer:
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